B 201744 A 28H
RRBNAR—IWTAT AN

EENOZERBEERIZCDOINT

T — 32 R EEARS
- A= - 20118 E2R1H~2017862H28H




RBEF— RFARER | HEAT

S
.




RBEE— RTAHARER | HEA: ASH RTIFEE 16 ( BfI: mSv/h ]

o

=

H

§|E
8

X
>.A |
Bl |

Kpp#gAn

RHR Hx(A)Z=E

Lo

RHR Hx(B)=E

T

TIPHE 2= L &R




RBEE— RTAHARER | HEA: ASH RTIFEE 28 ( BfI: mSv/h ]

S

il
—
>
-

il




BEE— REFAXER | REAF: A5t [RFIFEE 3 ( BfI: mSv/h ]
i 1 ] N
— | | T E
| | §| — FPC Hx
. — = =0 |8 [ Q ) A
o] = q] ) B
! FCS(A) D<> [
@ 1 O@ FPCRL T
] J [ %
— 1
il /Y
— T f >
\4\ ‘/. L — O
< 0 ° RHR-57
/ N I:I -
mi [
= (0.020) —
T D_ID(B) (A)D t%
(| 2gmn ' L . |‘
! — RLY A




RBEE— RTAHARER | HEA: ASH RTIFRE 48 ( BfI: mSv/h ]

||:||_

O U L
0040) (L0925

O oo oo
)
=4
1S
N
i

A sLC o

i 0] Pof .
D
L

00O

%) PLR-MGEvk N

“h
CT
O

EI_I
I:l/

..
1 (o

o

e

~J

o0 o0 o




RBEE— RTAHARER | HEA: A5t RTIFEE Sk ( BfI: mSv/h ]

M 5
Ot}
I

L]
[

0.013

X

N
j—‘
T
b _
X
] X




BESF— RFAHAREFR | HEAH: 45 S—EVEE 1M ( BAI: mSv/h ]

OOO“: [ T T1 I I I I LT
] A B0

[ O olele e [ e (R e

aaa—— -

— 1l J
] = D|_||_|r||_||_|r|,|_||_|

I (A (B (C

[ — I H

| o = Y o

(13 050 ) —{ 1 O B O

—
(040

020 £ 0.20

(2A )
(o—r—=_ == o ——1 [
L




BEE— BEFARER | HEAM: 451 F—EVERE 20 ( BfI: mSv/h ]
] [ 0.035) LI (0023) (0015) (0010) (0.010) (0.010)) ["C0.013 M. | . L
Jo.ogo)
O @O v
| T = @)\ [/
=[] QB0 | | p :%LP | — 0.045 \\\ /
(0040) (oos0)) | L0%31R) (C) 0,040 b
Coar) AP :|: oo0) / \
L /
| | 0.040 (0040) \
5040 0.035 0.045 0.025 \ // s
- 0.080
(0%0) @ [JAfsfl®
[ \
4 W l:u (S50 l e & , [ 0030) [
J ’ﬂ U 0.040 EELFE T 7|
=T = )
IZI/ D 4 (0015) _ | é
O 5 0.15
] 0015 I
O ] ] O —
; ~ =B co|BE| & L
a al; =
i @
s 0] | 2 s
ES-16

I/NRL—%F—
@




RBEE— RTAREM

HE &

A5 REVLERE 16

( BA{iL: mSv/h ]

o = ]

4l

2
I
\elelele




RBEE— RTAREM

HE &

A5 REVVERE 28

( BA{iL: mSv/h ]




RBEE— RTAREM

HE &

A5 REVLERE 36

( BA{iL: mSv/h ]




BEFE— BEFHHEREFR | NELH: 451 REYWLIEER 48 [ BE{E: mSv/h ]
’5 | | |
O O O
| O
O O O




